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X 246 170 62 23 7.4 32

B (KR [BEANERR] 4 3 3 2 15 32

B (BERAXR) 2 2 2 2 1.0 32

K 1 3 3 2 15 32

EE 3 3 2 1 30 32

310 5 4 4 2 20 35

o REL 12 10 6 1 10.0 32
RES ST R IR 12 1 6 1 11.0 32
R PRIRE B 8 6 5 1 6.0 32
BPfRLT 11 1 6 1 11.0 32

EXEERT 3 3 3 1 15 39

REEET 15 15 12 4 3.8 32

p=13] 85 67 6 2 335 32

SHIE (A& L) 32 31 10 2 155 32
EHBBRRETR] 187 160 20 5 320 45
EHTREBERER] 56 50 13 3 16.7 45
aa TARIBHRERR] 5 5 5 2 25 45
BERRENR] 1 1 1 - - 45
BHEX) 7 7 6 2 35 29
BEHEX) [BELNRVEXR] 0 - - - - 29
EAEE i*(i?k) 4 4 4 2 20 29
SHIE (EX) 2 1 1 - - 29
REHEL 74 69 69 29 20 39
REZEL(ERERR] 19 17 15 5 3.4 49

=25 ER) 40 36 7 2 18.0 27

(b Lok 1] 5 3 3 ‘ 30 27

35 RBIKCAHIH ) 72 52 15 2 26.0 50

s TRGEK) 3 2 1 1 20 27
BEE am @) 0 - - - - 27
I (B 49 45 5 2 225 27
HEEREBREMAES) 29 27 27 10 2.7 35

HEER B [RRE T R] 17 15 12 4 38 45
Z0ih |BVEER 1 2 2 2 1.0 44
AR | BE 34 33 28 18 18 39
B |znmsnm 4 4 3 1 40 39




